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IMPORTANT NOTES

eyt a9l

(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
T T Y gt A | 9 SH Hore 311.0H. 37X, T P Well YR H 9 A |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
a7 fafiv gfve wa wmt | Tt & | vees gfe U umT § ¥ Y S A el o S 3 3% 3AH 3T
gz ud 9T H 3iferd fmd MU E |

(C) Attempt answers either in Hindi or English, not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
ST aitent A et T § o et v § i, S A A@T | o famees weel @ STR S Gag Wi 9 fafty # 8
few S, 51 e T e e & forg aver @ st A St § S 3 % o A o mn e |

(D)  The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted.
STt B ST ST i SISt B W § 31Tae el [T AMMeT | ST SoiE i T 3% e AT |

(E)  Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.
et ot e 1 S SRR SR i P o W o | AR O (3 S 3 I Hied) o Siey Rl Yl 31T A,
3T AT AT I P T T T —- FARE § A, T, SO A, S & AT STar 3 i o A 4 I
W A U 37 A 7 ferd | O R Y ST B S S W S S e HIT ST | SO T W A
T o O S R W ST BN S A 5 3 o S W €

(F)  Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.
Tt S FrSRTE R ST & fob SRR Qe B Wee T # A T SISt e ¥ aTeY Uen el ford | aet
S % AT ford T8 ST Bl IRk BT Sire A S |

(G) If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
ot Forelt e & FeRdlY eBIY Y SPYS TEOT AT AT W 1 AC @ Al WS o feel AT SfuSt wRi H g s
O A/ & |

(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.
ST B TR QTR Hieis e d UeE S € | et forers o7 sifee fRw i et SO W EwRime
o 2T 3W AR H AT FHE |

(1)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
T YA Rl 3 SO ot 39 FLUH.R. T T A Sited faEer e dier 9 W AEEHgds W | EE
7 o a7 310,37, T el W e el STaT fohat o W § et el @l |

(J)  This OMR Sheet consists of Two parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
T AW AR, TR &Y AT F T &, o Hiaud e qEEfsd € | 9 B g snaef B e © |

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
iy TR T TR § HELHR AT S €, Al SUSI h  F O S T 36 Fae o, Sl 6 A
ey I @ |

favie e

et g AR .09, T U e I S S & 41 59 Tl W bl et Gges St & 37 39 W {1 Yo b

e Fee 3ifepa Teba ST &, T ST BT ST T 2 Sl FRE S T ST S for anaei SweErdl g |

Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification

is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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5 HRTARACA AR

PAPER-II GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)

(Total 43 Questions)

Unit -1 (65 Marks)

@z -1 (653i)
Part— A Marks : 20
HAT— T 3 : 20

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

e : G TS ST | (I T 1 IR 15-15 3166 A ¢ | Tcdeh U 2 Hb B |

I At what time do both hands of a clock meet between 7 a.m. and 8 a.m. ?

2. Find the next two terms of the given series.

1 ., LI
11 5+ 12 G

9 3
ARER L]

1 | 2 2
11§+ 1254- 147+ 16§+ ......

% 30T Tl UE ST ShiTT |
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: QAURTNA AR

3.

In the following find the correct number at ?
freferiad 4 2 o T T U8l T 71d i |
5,10, 13, 26, 29, 58, 61, 122, ?

If the system of equations x + 2y + 3 = 0; 2x + 3y + 4 = 0; 5x + y — k = 0 is consistent,
then find the value of'k.

I¢ TR fRM x + 2y +3=0; 2x + 3y +4=0; Sx +y — k = 0 37T B, & k 1 AH
T SIS |

Let A be the father of C and E be a daughter of C. If wife of A is F, B is brother of C,

D is son of B and G is wife of B. H is father of G. then find who is son of F ?

AR CHTMAREWCHFNER 1A AR T PR, CHIEBR, BHIED 2
AN BHITHGE, GHUTMHE, A TAHITCTF PRI aRE ?
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6.

In the following figure find the difference in lengths between the diagonal of the
square and the diameter of the circle.

T fot o i < forepol wal 91 & = 1 el & Hed TR 1A I |

FA
o

The mean and variance of 5 observations of an experiment are 4 and 5.2 respectively.
If from these 5 observations, three are 1. 2 and 6, then find the remaining two
observations.

forelt T & 5 eI} T WIET U SE0 Y 4 TS 5.2 3 | Ife 39 5 Seqon | 9 i deor
1,2 T4 6 %, a1 A9 S T&T0TT hl ST SHiTT |
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8.

In the following diagram, Circle shows EDUCATED., Rectangle shows
HARDWORKING, Triangle shows URBAN and Trapezium shows HONEST.
Different regions are numbered from 1 to 12. Which number indicates non-urban.

who are honest and hardworking but not educated ?
fom fomr , 9 frfera =61 femmar 2, @ wedt 1 fe@m &, Brs el i fommar 2
R qaersEqds $aHer i fearar 2 | fafy=r &=t &1 1 9 12 7 wae for e g |

HH = e T-wrsh i, S $AMeR 31 Hedl 8 i ffera 7 8, femdi 2 |

Find the area of shaded portion inside a circle of radius 4 cm. BC is central 3 part of

diameter AD.

4 cm P aTe1 9 o 3TEX [@ifehd YT 1 SF%E FTA HIT | BC, S8 AD 1 Sl
1
3 T2 |
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10. Find H.C.F. of (x> — 5x2 + 2x + 8), (11x2 —44x + 44) and (x> — 6x2 + 32).
(3 — 5x2 + 2x + 8), (11x2 — 44x + 44) T (x> — 6x2 + 32) ST H.H.4. HTd HIC |
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Part—B Marks : 25
WRT— o 3® : 25

Note : Answer allquestions.Answer the following questions in 50 words each. Each question
carries 5 marks.

e wefl ugH & ST E | w1 3T 50-50 el ° € | U U o 5 37eh Ui § |

11. Six persons H. L. J. K, L and M participate in a 400 metre race competition. At the
end of race it is found that H is not the last one to finish the race and I is not the
winner of the race. J finished the race before at least two persons. K and L (in order)
finished one after the another. H finished third and M finished fifth. Find who 1s
winner of the race ?

Teh 400 HieT i g Ufaaifiar 4 6 =Afgd H. LI K, LTI M W Ad 8 | S & 3 |
I8 I ST 2 foh H €I ol WA o STeqT 31f=qH o3fed 981 & 927 [ 9 are faaiiar i
TET Sfiefl 2 | J hH H < <1 Al ¥ TEel €I WeH el & 91 K Ud L 33 H T gh %
¢ Gl WeH L 3 | H TF Td M died 3 | S @cH L & | 71 S 5 g

gfanfiraT 1 fepge Sfar ?
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12, If 6 is taken such that denominator in the following expression does not vanish, then
simplify
fe 0 39 TR § & fob T =ioteh o1 20 3 o SUeR 7 21, a1 Yt HRT -
sin (270° + 0) cos? (720° — 0) — sin (270° — 6) sin® (540° + 0)  cot (270° — 0)
sin (90° + 0) sin (— 0) — cos? (180° — 0) " cosec? (450° + 0)
13.  The given pie-chart shows the expenditure of a family on various items during a year.

If total yearly income of the family is ¥ 81,000, then
(1)  What is expenditure on education ?

(11) What is difference of expenditure on food and rent ?

feu U 918 o ° U uiEr 1 v o ° fofiry wel o fopan e wd e B | 3fe
ITER 1 Mfies 31 81,000 %92 &I, |1

(i) frenwfran=mgars ?
(i) @9 forur & =t | fopar 37 g 7

Education
foremm

Cloths

a9
85°
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14. A person walking takes 16 steps in 20 seconds to come down on an escalator, that is
moving down. The same person while running on escalator to come down takes
10 seconds to cover 24 steps. How many steps are there in the escalator ?

U SAfad A9 HTd 5T TEholed T Feid 8¢ 20 T H 16 =701 =aidl @ | 98 safad 341
TEheIet T eIgd B AE 1A 5T 10 Hehe T 24 ST Ieid] &, 1 Teeheted H fehd- =01 8 ?
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15.

A square piece of paper is folded four times along its diagonal to get an isosceles
triangle whose equal sides are 10 cm. What is the area of the unfolded original piece

of paper ?

Ush SR HITS o ghe 1 I8eh el b Y TR IR Wigd T T wafgeng Brgst <61
AT ST h1 ems 10 9.5, 2 | fom1 9 5ot Siret o Shel 1 B 2

Note :

Part-C Marks : 20
T — | 3F : 20

Attempt all questions. Answer the following questions in 100 words each . Each
question carries 10 marks.

e : aeft weAT & SRS | 1 I3 <1 3T 100-100%7e] | € | Tcdeh 994 o 10 37 fuff@ 8 |

16.

A, B and C together can complete a piece of work in 10 days. After 4 days, A left the
work. Then B and C together completed the work in 10 more days. Find the number
of days in which A alone can complete the work.

A, B @1 C &1 T T1Y Tehell 1 o1 q1 3 # 10 & o1 70 orar B | 4 fe7 wvamq A

T BISHL FcTl ST & | I 1 1 B TUT C Teh A1 fiereht 0 & 8 10 fe 1 oma
3R & | 71d i foh A 37ehent 38 e o1 feha T o quf sva |
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17.

Number of students studying in different courses in cities X and Y are given in
following table :

¥ X 3R Y H it urgassai # ve @ ferenfRi < e e g A R

City/qTX City/318tT
Course X Y
RIGRET Girls | Boys | Girls | Boys
SRl | ek | TTefhal | oes
B.Tech.
i > 25 45 25 65
B.A. _
= T 23 186 20 32
B.Sc. ~
Hg.d 25 120 12 58
B.Com
= 12 100 03 05
Answer the following questions based on table :
Rofl I 3TeTRE = Tt 1 3 difre
i) If 60% boys and 70% girls pass in total, then what is the combined pass
X giris p p

(ii)

(iii)

(iv)

percentage of students ?

IfE T 60% Teh R 70% wreihar Ixivl B 2, a1 ferenfit =1 aftifera <ol
siferera =8 ?

Which course has maximum percentage of girls ?

ope uregsh ® refepa it wfasra semn siesaa @ 2

How much percentage of students in B.Tech. and B.Sc are more than students
in B.A. ?

1.2, o . wa. . & ol f gen, @ o ki 6 Ten 9 e
fcrera 3tfers 7 2

How much percentage of number of boys is greater than number of girls in all
courses ?

af} uTgHsRAl 1 THeTeRt TTeehi Shi T, Tiefhal ot e & fera wferera 31Res 2 7
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(Unit-II) (70 Marks)
@fTe-10) (70 i)
Part— A Marks : 10
WIT — 3T 3JF: 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

Ae:  of} i IS | T U991 HT I 15-15 TSI T € | TAh U9 & 2 37 Fuifa 2 |

1. Two identical metallic spheres A and B of exactly equal mass are taken. If A is charged
with QQ positive charge and B is charged with Q negative charge, then which sphere wili be
heavier after charging and why ?
gl foerper a9 goam™ o "wed 91g % Mol A 9 B fou 5 2 | 3fg A 1 Q geTees stew @
TSR Tk STTaT 8 T B &1 Q ZRUITcHeh 3TTA9l & TTAfSTd feharm STam 2, a1 3AevH o gved

1T 9T AT T I 3R R ?

Calculate the number of protons, neutrons and electrons in §g Br atom.

50 Br wmo] # WS, =g a1 geergHI ohl HEAT BT TREeT ST |

]
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3.  State Hess’s law-a corollary of the first law of thermodynamics. with suitable example.
T ISATTae I % STTHT — 39 % w1 3gE Atgd Seorg L |

4. Define autotrophic nutrition. Name the type‘?of autotrophic nutrition.
TS TTY0T T TRTIYT SIS | FSOISd T1997 o YehR] < T §d13T |

5. What is hypermetropia ? How can this defect be corrected ?

Sreigfte @R Bl 8 7 39 1Y <l ohdl GURT ST Tehd 1 2 7
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Part—B Marks : 20
AT — ;F ;20

Paper-11

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries S marks.

A wft weET o IR S | e woHi w1 3o 50-50 weal 1§ | U U9 % 5 37 Fuffa § |
6.  What do you understand by total internal reflection ? Explain the abrilliance of diamond on
the basis of total internal reflection.

o1 AN TWEdT H 3T FT T @ 7 ER ol wHeh w1 Pl Hiale TWEd 6 YR W
AT |

7. Why gas fizzes out when soda-water bottle is opened ?

HIST-aTed Siad @ietd 9L 19 G912 o 91 sTel 1 3711 & 7
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AN ATA

8.

Write a note on “Golden rice’.

‘@it =mee W feoft fafigu |

9.

Explain the inheritance of ABO blood groups in human beings.

HHE 0 ABO & 9@ i Il ! FHEST |
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Part—-C Marks : 40
T —9 3w 40

Note :  Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.

e :  weft i o I e | T weHl T 3T 100-100 ISR B S | ek U9 % 10 37 Muifa ® |

10.  Write a note on the contribution of Dr. A.P.J. Abdul Kalam in India’s science and
technology programme.

W <h fo=TT TSl STefiTeh! helshm o €. U.HY.ST. 37egel shel o AMEH W Teh feopufiferfia |
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11. Define the term “Solution”. How many types of solutions are there ? Write briefly about
each type with example.

“Rrere ez 1 aRuTr AR | fere fhaw TR % B1d & ? T Wb o e i 3
gfea gem 1 fofa |
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12. What are monoclonal antibodies ? How are they produced ?

Teh T Tferefl #1 8id @ ? 3¢ s YR IcTied fhal Sar & 7
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13.  Describe the in-situ conservation of Biodiversity with special reference to India.

O o fasiy ged § Safafaerdr & -5 EeTor 1 9 HifST |
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(Unit-11I) (65 Marks)
(@re-111) (65 i)
Part— A Marks : 10
WAT — 3T dFH: 10

Note :  Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

A weft UeET S IS | A TvHl BT I 15-15 ISE 1 ¢ | e T % 2 31 fuifia B |

l. What is ‘Cinder Cone” Volcano ?

Tovet o1’ SSTATE! = 7

2. Define ‘Mesa’.
“THT’ 1 IR Hife |
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3.

Where are the “Sahayadris’ ?

TEly haEl & ?

Write the name of the districts having density of population more than 400 persons per

square kilometres in Rajasthan as per Census —2011.

SEFTOMET 2011 % 37TUR 9 UL § 400 stad Sfd i feretiie e aad § 371U
T & el o 9 fafau |

5.

What do you mean by “Walra™ ?

“GTTT © SATIhT R—IT AE  ?
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. IR A

Part— B Marks : 2
L 10 3q® : 25
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries S marks.
e wft i S IR | T Al o I 50-50 IsGT H S | Tedish U o 5 31k i # |
6.  What are *fold mountains’ ? Give some examples of folded mountains with their location.
‘aferd wela’ 12 ? afera vddl o HS IS 3k srafeufa & @y i |
7. Discuss the characteristics of Mesozoic era of the geological time scale.

ViR T Aol o mearsiidl AEThed i foeryarsti i feemrm Hifs |
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8.  Discuss about the trends of population growth in India after the year 1900 to till date.

v 3 e 3 3 A 1900 3 379 e % v /ARl B afti i,

9.  Explain the extent and importance of Chota Nagpur Plateau.

BT TR T3 o TR T Hawd a1 aviF hilvig |
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10.  Describe the distribution of lead and zinc production areas in Rajasthan.

TS | H9T U ST 3cdTe &1 < faawor sh1 v Shifeu |

Part - C Marks : 30
g -9 2 : 30

Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.

e ;. ot g I E | A U9 ST 3T 100-100 IS H € | Tk T 6 10 37 Fuifa g |

11.  Describe the distribution of earthquakes in the world.

foroa o yeprdi o fereor =1 e Hifsru |
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12. Describe in detail the major areas of ‘Deccan Trap” in India.

I | “gefehet 00 o U@ &1 b1 foar & fae=m shifsy |
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13

Discuss the socio-economic characteristics of *Garasia’ tribe of Rajasthan.

TR T TGAT S bl ATHTSTeh - 37110eh Tarsdrati =71 9o shifsr |
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